Name: Class: Date:

Precalculus-G11-Ch4-Test

Indicate the answer choice that best completes the statement or answers the question.

1. Find the exact value of tan4—jr.

3
a_.f1  b.f3

C. ﬁ d. undefined
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. . . . 1 )
3. Determine the amplitude, period, and phase shift for y = - tan{ &+ 30%)and use them to plot the graph of the function.
5

a. . 1 . o . o b. amplitude = does not exist; period = 180°;
amplitude = i period = 180°; phase shift = -30 phal?se shift = —30° P

70 =130

c. amplitude = does not exist; period = 180°; d. amplitude = does not exist; period = 180°;
phase shift = 30° phase shift = -30°

lao 270 O =180
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4. Graph ¥ =Cos™ [—& x|on the interval -5 =x £ 5.

-7 -7

-7 -7

In tge unit circle a point (1,-2) lies on the terminal side of an angle &in standard position. Find the exact value of
cot

5.(-1,5)

a 2fi 5.0 26 Af 26

it &= ; ,Cos 8= —x~f 26, tan =—%,csc-§=T,sec é‘=—?,cnt-§=—5
b. J26 5.026 26

sin &= g cos &= 56 Jtan &= -5 csc 8= -+ 26, sec &= — cot &= —%
C. . 5.0 26 Af 26 é

it &= BT cos &= TR tan &= -5, csc &= 5 - sec 8= —+ 26, cot &= —%
d. . 1 1

sin &= 1, cos &= —Z tan &= -5, cac &= 1, sec &= -5, cot = -3
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6. Suppose @ is an angle in the standard position whose terminal side is in Quadrant IV and cot &= -

values of the five remaining trigonometric functions of 6.

a. , 149 ~f 148 7 10 10

i Ef= ——— cos 8= ———

7 10 ,cscé‘=m,secé‘=—m, a =
b. 7 1 143

[
—_
=

9 7

sin &= — , 08 8= ——, tsc f=——7— sec &= ———— tan &= ——
~J 149 ~J 149 10 7 10

C. ~J 149 ~J 149
sih &= — 1III ,cnsa§'=L,csc-§'=— ,snan::-z§'=—,1:a.-r1.5'=—i
w148 149 10 7 10

d. 149 149
sin &= — 7 ,cns§=i,csc5=— ,snan::.:5'=—,1:311.:5':—i
] 149 149 7 10 10

Simplify each expression.

7. sin® &cos® &- cos® &
a. _cos? &
b. 1 cos* &
C. cos* &

d. _cos* &
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Graph f(x), —f(x), and the given function.

8.y =13.25"cosx

a. y / b. y / H
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9. Find the area of the triangle with a = 3 feet, b = 4 feet, and ¢ = 6 feet. Round to the nearest tenth.

a.50ft2 b.53f2
c.s5ft2  d.54ft2
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10. Suppose @ is an angle in the standard position whose terminal side is in Quadrant 1V and cot &= et Find the exact

values of the five remaining trigonometric functions of 6.

a 7 3 158 ~f58 7
il &= ———, c0§ &= ——, 080 F= ————  sec P= —— fan &= ——
nd 58 of 58 7 3 3
b. NET NI 7 3 3
st &= —— 08 f=-———— cic &= —— sec F= ———  tan &= —=
7 3 158 NI 7
C. 5 NET:
sﬁ15=—i,cns§=i,csc§=— ,snac:-:§'=—,1:an¢5'=—E
NET: ~f 58 3 7 3
d. NI NET:
sin &= —L, cos 8= i, £sC 8= ————, sec &= ——, tan &= 7
nd 58 of 58 3 7 3
1
11. Graph y =13 secg 8,
a. b.
; D—Ell I4I:I —Ezﬂlg =+ E?IIZI 54I 1IIZI 1 : 'ﬂr —1I::EIZI -Blllil —5I4I:I —Ezillj =+ E?IIII 54IIII ElIIII ID;EI:I '?r
41 41
=+ =+
= =
_10 4+ =10 +
_12 4 =13+
=14 + =14 +
C. d.

=1080 =210 =540 2703 + 270 540 210 1030 &

-1+
—11 +
13 +
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12. How many triangles are there that satisfy the conditions a =13, b =6, o = 6°?

a.l b.0
c.2 d. impossible to determine

13. Solve by using the measurements £PQR = 90°, £QRP = 80°, and r = 15. Round measures of sides to the nearest tenth
and measures of angles to the nearest degree.

]
% P R

a. «P=10°q~152,p~=26
b. .P =10° 9~2.6,p~15.2
c. «.P=10°qq~152,p~14.8
d. «.P =10° q~85.1,p~14.8
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14. Find the amplitude of y = 11cos &. Then graph the function.

a. amplitude: 11 b. amplitude: does not exist
»
1z
1
8
§
4
2
—f : :

_a0 | -130 | -s0 = 270 R 1 S/ R sh 180 w0 &
4 -
. -
-]
-10 -0
-1z -1z

c. amplitude: 11 d. amplitude: 1
»

12
1n
g S
& |13
4 4
2 2

! ! P

ato -180 180 g O -zmu o0 Tew am0 &
-2 -2
—4 —4
-4 -5
-3 =
-1a -1
-12 -12
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15. Graph y =& sec% &,

a.

1080=810 —M0 274

14(

121

10
a
ﬁ_
4_
j_

=31 40 =270 <+
_4 -+

_G -+

_8 -+

-1+

—12+

—14 +
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16. Graph y = 11 saan::l &,

]
a. ;f b. »

14 41

12 1

104 w

8+ 8+

61 61

41 41

1+ 1+

_l080-810 —540 <2702 | 270 S40 810 1080 & _l080-810 -S40 3705 | 270 sS40 g10 losn 5

a4t a4

s+ 5+

o+t o+t

BT w4

LI AU A

T 1540 —270 3
_4 4 4

_6 -+ -+

_8 - -

-4 -1

-1z 1 -1 1

-4 1 -1 1

q 2 iz b, 13z -fa
8 8 3 8

c. iz —llz d. 8= -13=
R 8’ 8
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18. Find the least positive angle measurement that is coterminal with —100°.

a. 170°  b. 440°
c.620°  d.260°

19. Find the least positive angle measurement that is coterminal with —70°.

a. 300°  h.292°
c.290°  d.295°

20. Find one positive and one negative angle coterminal with an angle of 166°.

a. 526°, -194°  b.516°, -14°
C. 526°, —76 d. 256°, —76°
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